
SAP ABAP table ROIO_SR_CONTAINER {RLM Shipment receipt - container data}

ROIO_SR_CONTAINER

VEGR1 [CHAR (5)]

VEGR2 [CHAR (5)]

VEGR3 [CHAR (5)]

VEGR4 [CHAR (5)]

VEGR5 [CHAR (5)]

VHILM [CHAR (18)]

VHART [CHAR (4)]

MAGRV [CHAR (4)]

MEABM [UNIT (3)]

OIO_CNTNR_TYP_CD [CHAR (2)]

CNTNR_TYP_CD [CHAR (2)]

OWNER [CHAR (10)]

TP_OWNER [CHAR (10)]

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 ROIO_SR_CONTAINER-OWNER = LFA1-LIFNR 

0..N

0..N

 ROIO_SR_CONTAINER-TP_OWNER = LFA1-LIFNR 0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 ROIO_SR_CONTAINER-VHILM = MARA-MATNR 
0..N

{0,1}

OIO_CNTNR_TYP

MANDT [CLNT (3)]

CNTNR_TYP_CD [CHAR (2)]

 ROIO_SR_CONTAINER-CNTNR_TYP_CD = OIO_CNTNR_TYP-CNTNR_TYP_CD 
0..N

{0,1}
 ROIO_SR_CONTAINER-OIO_CNTNR_TYP_CD = OIO_CNTNR_TYP-CNTNR_TYP_CD 0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]
 ROIO_SR_CONTAINER-MEABM = T006-MSEHI 0..N

{0,1} TVE1

MANDT [CLNT (3)]

VEGR1 [CHAR (5)]

 ROIO_SR_CONTAINER-VEGR1 = TVE1-VEGR1 
0..N1

TVE2

MANDT [CLNT (3)]

VEGR2 [CHAR (5)]

 ROIO_SR_CONTAINER-VEGR2 = TVE2-VEGR2 

0..N

1

TVE3

MANDT [CLNT (3)]

VEGR3 [CHAR (5)]

 ROIO_SR_CONTAINER-VEGR3 = TVE3-VEGR3 

0..N

1

TVE4

MANDT [CLNT (3)]

VEGR4 [CHAR (5)]

 ROIO_SR_CONTAINER-VEGR4 = TVE4-VEGR4 

0..N

1

TVE5

MANDT [CLNT (3)]

VEGR5 [CHAR (5)]

 ROIO_SR_CONTAINER-VEGR5 = TVE5-VEGR5 

0..N

1

TVEGR

MANDT [CLNT (3)]

MAGRV [CHAR (4)]

 ROIO_SR_CONTAINER-MAGRV = TVEGR-MAGRV 

0..N

{0,1}

TVTY

MANDT [CLNT (3)]

TRATY [CHAR (4)]

 ROIO_SR_CONTAINER-VHART = TVTY-TRATY 

0..N

{0,1}


